Practical English: Learning and Teaching EPP, IIT Kanpur

Assignment 22

Please watch Lesson 22 and Tutorial 22 before attempting this assignment.

Part A

1. Write a sentence with a word from the word family ‘boil’ using two objects. Which is the (i) direct and
(i) indirect object? Write the passive voice in two ways by interchanging the position of the objects.

2. Use the verbs in the appropriate ways using ‘would’, ‘should’, ‘have to’ or ‘must’.

Now that he wields a divine power, he (use) it for the good of the rest. But if he ever wants to
walk again, he (administer) it to himself. He (decide) fast as who would benefit from
the boon, for in a little time, the messenger (strip) him off the privilege and search for another

worthy recipient.
3. Out of ‘should’, ‘have to’ and ‘must’, which two can be interchanged more comfortably? Explain.

4. lllustrate the use of simple past and habitual past using the pair of words from the word family ‘me-
dium’ which have a unique sound pattern.
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5. Frame some contexts or questions in which the following otherwise incomplete sentences will make
sense.
(i) His son was. (i1) This time they are.

6. There is an ambiguity in the following sentence in one form of its passive voice. Show that and explain
how it is ambiguous.
They quoted Shakespeare to me.

7. Use two transitive verbs from the word family ‘ruin’ and write them as intransitive in two different
sentences.

Part B

Use around half of the verbs of the ‘Second list of hundred verbs’ shown in Lesson 21, to make 50
independent simple sentences: 46 of them in the 46 types appearing in the syntax summary of Lesson
19, 3 using “have/has/had to” and one using “used to”.



